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B kakou uyetsepTti
HaxoAATCA Yyrnbl?




HassaTb 3Haku pyHKUUU
NO YeTBepTaM:
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HassaTb 3Haku pyHKUUU
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cos(-1) = cos t
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sin(-1) = -si
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A

sin(-t) = -sin t
cos(-t) = cos t
tg(-t) = - 19t
T(-T) = -ctg t




®opmynbl NpuseneHUs

o 90" -¢, | 90" +o | 180"-a | 180"+a | 270" -a | 270"+a | 360"- o | 360° +a

t T T T-0a T+a 3z 3 2n-0 |2mt+a
——a —+a —-a —+a

TP, 2 2 2 2

¢ysxus |

sin coso | sina |-sina Sin a

COS -sin o |-cosa |-cosa cos o

tg -ciga | -fga 1g a 1g a

ctg -fga |-ciga | ctga ctg a




<I>op/v\ynb1 npuseaeHus

a -« 190" +¢ | 180%¢ | 180°+¢ | 270" -0 | 270"+q | 360"- ¢ | 360° +u
t T, |Ey, |T-a |wte |3m__ 3™ 2r-a |2wta

TPWI. 2 2 2 2

GyHKIus |

sin cos 0. cosd | sina |-sina |-cosa |-cose |-sina |sina

CoS sing |-sina |-cosa |-cosa |-sina Sin a cos 0. | cos a

tg cliga |-ciga |-liga g a cig a ~ciga |-iga ga

ctg g a -ga |-ctga | clga | Iga -1g -ciga |clga




I BapuanT

3
) g o) =
a)tga, 0) -ctga,; B)ctga, 1) -tga. .

2)sin(@m— o) =

a)sino,0) -SINo,B) COSAL.T') -COSQ. .

3) cos(§+ ) =

a)-cosa,0) -Sino,B) COSOT) SINa.

4 ctgQa— o) =
a)-tga.,0) ctgaB) tgoa.r) —ctga.

5) sin(90°+a) =

a)cosa,;0) sina.;B) -COSOL;T' ) -SINa. .

6) cos(180° — o) =

a)cosa,,0) sina.;B) -CoOsoL,T' )} —SINa.

7) tgR70° + o) =

8) ctg(360° + o) =
A)ctga0) tgaB) —ctga;, r)-tga.

II BapunanT

1) tg(270°— 0) =
a)tga; 0) -ctga,;, B)ctga, r) —tga.

2) sin(180° — o) =

a)sina,0) -sina,B) COSQ,T' ) —COSQL..

3) cos(90° + ) =

a)-cosa.;0) -sina.;B) COsa.;,T') Sina.

4) ctg(360° — o) =

a)-tga,0) ctga,B) tga,r) —ctga.

5) sin(%+ a) =

a)cosa.,0) sina.;B) -COsSa,;T' ) —SINa.

6) cos(m — o) =

a)cosa.,0) sina,B) -COSQL,T' ) —SINA..

7y tg(r+a) =
a)ctga;,0) -ctga,B) -tga..r) tga.

8) ctgna + o) =
a)yctga,6) tga,;B) -ctga; r)-tga.
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